Energy (eV)

Jahn-Teller Gap

15

0.5

o

-1.5

B=2.0

A =5.953 (AleV)
ABr=0.632 (eV)

AJT = 1.417 (eV)

AJT Mn3 = 1.725 (eV)
AJT Mn4 = 1.419 (eV)

3+

-0.632 eV

0.230 eV

—-1.495 eV

1.342 eV
0.632 eV
-0.077 eV

4+




Energy (eV)

Jahn-Teller Gap

15

0.5

o

-1.5

B=20

A =4.566 (AleV)
ABr =0.485 (eV)
AJT = 1.087 (eV)
AJT Mn3 = 1.323 (eV)
AJT Mn4 = 1.089 (eV)

3+

0485V

1.029 eV
0.485 eV
0176V
—0.059 eV
AJT
-1.146 eV

4+




Energy (eV)

Jahn-Teller Gap

15

0.5

o

-1.5

B=1.0

A =10.130 (AleV)
ABr=0.538 (eV)

AJT = 1.336 (eV)

AJT Mn3 = 2.935 (eV)
AJT Mn4 = 2.415 (eV)

3+

-0.538 eV

1.746 eV
0.929 eV
0.538eV.
-0.670 eV
AJT
—2.005 eV

4+




Energy (eV)

Jahn-Teller Gap

15

0.5

o

-1.5

B=20

A =7.558 (AleV)
ABr=0.803 (eV)
AJT = 1.800 (eV)
AJT Mn3 =2.190 (eV)
AJT Mn4 = 1.802 (eV)

3+

—0.803 eV

1.704 eV
02926V
—0.098 eV
AJT
—1.898 eV

0.803 eV

4+
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